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First: Statement of the list of costs, methods of separating, costs with
examples
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Second: Explain what the Economic order quantity, with examples
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Third: Clarifying the concept of materials, distinguishing between direct and
indirect materials with examples
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Fourth: Knowing the impact of control on materials and accounting
treatment (restrictions) with examples
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Fifth: Explaining the methods of pricing materials, the first-in, first-out
method, the first-in, first-out method, the weighted average method, with
examples.
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Sixth: Clarifying the concept of wages, distinguishing between direct and
indirect wages with examples
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Seventh: An overview of strategic cost management with examples
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First: Statement of the list of costs, methods of separating, costs with
examples

A cost sheet is a statement that shows the various components of total cost for a
product and shows previous data for comparison. You can deduce the ideal selling price
of a product based on the cost sheet.

A0 Hleell dnlad) bl (ya ym c_u.qﬂ,“' llaay) A8l Aala L) b oSl s O e 3ole AalHl) 48

A Ll e 2y priial e wl) e Jil5 GliSay
A cost sheet document can be prepared either by using historical cost or by referring to
estimated costs. A historical cost sheet is prepared based on the actual cost incurred for

a product. An estimated cost sheet, on the other hand, is prepared based on estimated
cost just before the production begins.
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Importance of Costs Sheet <idlsill 4aild 4 ar]

Understanding the importance of costs sheet is crucial for effective financial
management. Costs sheet serve several key purposes:

D lgie At ) il e Bae (oSl Al aaa Aladl) A0 35130 Lpaal1 Al el CaISN Al dpanl agh
= They help in cost control and cost reduction.
= They provide insights into the of products or services.

= Theyaidin and financial planning.

- A3

Total Quantity of Materials Used ( units) = Material Purchased + Opening stock of raw
material-Closing stock of raw material.

Total Direct Material costs = total Material Purchased costs + Opening stock of raw
material costs -Closing stock of raw material costs

3
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Or
Direct Material Cost = Quantity of Materials Used x Cost per Unit of Material
Direct Labor Cost = Number of Direct Labor Hours x Hourly Rate for Direct Labor

Profit margin = (selling price - unit cost) / selling price

s ddle daadl
Aald b Ciliay (o1 U 55, Jiriil) it 553 A oW1 A gall (5 38) sadll J5) S -1
ol
aiE b lay (AU U g5, Jeriall Cad 555, A W) o) sall (5 3a) saall Al S -2
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Cost statement
Details Amount Total
Beginning inventory of direct "
materials
Purchases of direct materials XX
Cost of direct materials available for -
use
Ending inventory of direct materials (xx)
Direct materials used XX
Direct manufacturing labor XX
Manufacturing overhead costs XX
Manufacturing costs XXX
Beginning work-in-process o
inventory
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Total manufacturing costs XXX
Ending work-in-process inventory (xx)
Cost of goods manufactured XXX
Beginning finished goods inventory XX
Cost of goods available for sale XXX
Ending finished goods inventory (xx)
Cost of goods sold XXXXX
Income statement
Details Amount Total
Sales Xxxx
Cost of goods sold (xxx)
Gross profit (loss) Xx
Managerial & marketing (x)
costs
net profit (loss) X
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Example 1 :- the following cost data for alsarry company

Beginning inventory of direct materials, January 1, 2020. 11,000 $
Purchases of direct materials in 2020 . 73,000 $

Ending inventory of direct materials, December 31, 2020 . 8,000 S
Direct manufacturing labor in 2020 are 9000 S .

Indirect manufacturing labor $ 7,000

Supplies 2,000 S

Heat, light, and power 5,000 S

Depreciation—plant building 2,000 S

Depreciation—plant equipment 3,000 $

Miscellaneous 1,000 S

Beginning work-in-process inventory, January 1, 2020 . 6000 S
Ending work-in-process inventory, December 31, 2020. 7000 S
Beginning finished goods inventory, January 1, 2020 . 22000 $
Ending finished goods inventory, December 31, 2020 . 18000 S
Marketing & admin costs . 70000 $

Sales : 210000 S

Required :1- calculate cost of good sold 2- calculate net income .

solution
1-Costs sheet

Details Amount Total
Beginning mven.tory of direct 11000
materials
Purchases of direct materials 73000
Cost of direct materials available for 84000
use
Ending inventory of direct materials (8000)
Direct materials used 76000
Direct manufacturing labor 9000
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indirect manufacturing labor 7000
Supplies 2000
Heat & light 5000
Depreciation-plant building 2000
Depreciation-plant equipment 3000
Miscellaneous 4s gie 1000
Manufacturing overhead costs 20000
Manufacturing costs 105000
Beginnin.g work-in-process 6000
inventory
Total manufacturing costs 111000
Ending work-in-process inventory (7000)
Cost of goods manufactured 104000
Beginning finished goods inventory 22000
Cost of goods available for sale 126000
Ending finished goods inventory (18000)
Cost of goods sold 108000

2-Income statement
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Details Amount Total
Sales 210000
Cost of goods sold (108000)
Gross profit (loss) 102000
Managerial & marketing (70000)
costs
net profit (loss) 32000

Example 2: Suppose u=_8 you are preparing a cost sheet for an automobile
company for the year 2020-21. You have to consider the following information to

prepare a cost sheet (Homework)

53
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Direct material consumediSigicddl —30,00,000 $
Opening stock of raw materials — 18,00,000 $
Closing stock of raw materials — 2,00,000 $

Direct wages — 20,00,000 $

Direct expenses — 10,00,000 $

Factory overhead — 100% of direct wages

Office and administration overhead — 20% of works
Selling and distribution overhead — 10,00,000 $
Cost of opening stock for finished goods — 2,50,000 $
Cost of closing stock for finished goods — 3,50,000 $
Profit on cost — 20%

solution

Details Amount

Total

direct materials consumed 3000000

Beginning inventory of direct

. 1800000
materials
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Purchases of direct materials 4800000
Ending inventory of direct materials (200000)
Direct materials used 4600000
Direct manufacturing labor(wages) 2000000
Direct manufacturing expenses 1000000
Prime cost 7600000
overvcan QA g tor) A
Manufacturing costs (work cost) 9600000
Office and administration overhead —
20% of works cost %20 * 9600000 1920000
Total cost of production(Manufacturing) 11520000
Beginning finished goods inventory 250000
Cost of goods available for sale 11770000
Ending finished goods inventory (350000)
Cost of goods sold 11420000
Selling and distribution overhead 1000000
Cost of sales 12420000
Profit on cost 20% 20% * 12420000 2484000
Sales 14904000
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1- Purchases of direct materials = direct materials consumed + Beginning inventory

of direct materials 4x23isall 3 sall (33) JS&y paaT 4la (i j2l

Jadl b SUnaal) il Croin s o liom e 5 e licall CallSS e gen i gl o lia -2
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Example 3 :Below are the data extracted from the records of Al-Sulaimaniya
Company for Metal Products during October 2015:

Hw

© 0N U

RS el PR Aianal) cilaiiall dgilasbead) 48 pd v (e A il clibd) L Led

The direct raw material costs used during the month: 450,000 S.

The direct labor costs and indirect costs during the month: 300,000 $ and 100,000
S respectively.

Marketing costs and administrative costs: 200,000 $ and 100,000 S respectively.
Work in progress inventory costs at the beginning and end of the month: 30,000 $
and 60,000 S respectively.

Finished goods inventory costs at the beginning of the month: 80,000 S.

Number of finished production units during the month: 82,000 units.

Number of finished goods inventory at the end of the month: 10,000 units.
Number of finished goods inventory at the beginning of the month: 8,000 units.

. Selling price per unit during the month: 15 S.

10 Other revenues and expenses: 30,000 S and 10,000 S, respectively.
Require:

1-Prepare a cost of goods sold statement for October 2015.

2-Prepare an income statement for October 2015.

solution

1-

cost of goods sold statement for October 2015.

Details Amount Total

10
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Direct materials used 450,000
Direct manufacturing labor(wages) 300,000
Manufacturing overhead costs 100,000
Manufacturing costs (work cost) 850,000
Begmnln.g work-in-process 30,000
inventory
Total manufacturing costs 880,000
Ending work-in-process inventory (60,000)
Total good manufacturing costs 820,000
Beginning finished goods inventory 80,000
Cost of goods available for sale 900,000
Ending finished goods inventory (100,000)
Cost of goods sold 800,000
‘Cilaa M

""To determine the costs of the finished goods inventory at the end of the month, follow these steps:

4l ) ghadl) pLily jgddl JAT Al LYY ()9 58 Gl Baas

A - Calculate the average cost per unit produced during the month using the following formula:

"Average cost per unit = Total production cost / Number of units produced"'

=820,000/82000 = 10%

B - The average cost per unit produced during the month is used to calculate the cost of the
finished goods inventory at the end of the month using the following formula:

Al Adstaal) aladiiady i) JAT ALl Z LYY ¢ 958 4RI Cllua (B o) DA Apiialf Bas o) AISH Ja gla addieuy

""Cost of Ending finished goods inventory = Number of units in stock x Average cost per unit"

=10,000 x 10 =100,000 $

2-Income statement

11
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Details Amount Total
Sales 1,200,000
Cost of goods sold (800,000)
Gross profit (loss) 400,000
Managerial & marketing (300,000)
costs
Other Revenues 30,000
Other Expenses (10,000)
net profit (loss) 120,000

the sales revenue achieved during October 2015was calculated by following these steps:
4l <l gladl) £L5) VA (e 2015 S g I (3BT (o) lagaal) 31 ) cileatia) o3 B g
A - Calculating the number of units sold during the month using the following equation:
number of Units Sold During the Period = Number of Completed Units at the Beginning of the
Period (Month) + Number of Completed Units Produced During the Period (Month) - Number of
Completed Units at the End of the Period(Month)

A geddl) alil) ZUGY) Claagll aie +(gdll) Baall Jg) dalil) ZUN) Claa gl dae = 358 A delual) Claagll dae
() Baddl JA) alil) L) cilaa gl dae - 3 a8

B- Calculating Sales Revenue During the Month Using the Following Equation:
Sales = Number of Units Sold During the Period x Selling Price

o Sales Revenue for October = 80,000 x 15=1,200,000 $ .

12
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methods of separating costs —ll<ill Jad 3 h/ a

The method of estimating costs helps management plan and make decisions, as it
enables management to know the amount of costs it needs in any production process.
There are several ways to separate costs, including:

Gl )aBa 43 ma Cpe BY) OSal Gua i AN MAS) g Jadadil) e I selud Cillsil) uads 48
t e LSl Juall (g oae dlllia 5 i) Ales (5] A L Zliag Al

The highest and lowest level of activity Jldill 5 gl Jalg Aoi 48 )k
method
It is considered one of the easiest methods to use in analyzing the components of mixed
costs, and using this method requires following the following steps:-
Lol callayy 45, 5kl oda aladiind g ddlidall Gl jualic Jilad 8 Lelasiind 3okl dewd (e iadi
—:adlll &l gladl
4o e yall Callil) g JaLaall (5 gine (Aol aaa g 4y Aas el oISl g Laliall (g ginn lef daad ]
Determine the highest level of activity and its associated costs and determine the lowest
level of activity and its associated costs.
Llill ana ol 480K g LLaill ans e f 485 0 (3 dl aasd 2
Determine the difference between the cost of the highest volume of activity and the
cost of the lowest volume of activity.
Llaall aas ol g LaLaall aaa e o 38 aaas 3
Determine the difference between the highest activity volume and the lowest activity
volume.
el Jone Jiay G anall b G e IS b (3 il Fand 3k e il Jane s 4
b oll 3 yaarial) A81SH)
Calculating the rate of change by dividing the difference in costs by the difference in
volume, where the rate of change represents the variable cost per unit
Jaxa 5 priial) 45815 Cilin ol pall aanall (g oy Lol (5 siane 5V 5 el (ISl aaadl 5
(8 shall b gl il
To determine the variable costs for any activity level, the volume whose variable cost is
to be calculated is multiplied by the rate of change calculated in step (4)
(o0 @+ ) = (o )il baall dalee Gk Y1 Gallay A3 CallSill aaail 6
1) Sus
sl Mea) =(a
s ol 5 juaial AlSEl) =0, bl ana= e | Al A3l = |
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To determine fixed costs, it is necessary to apply the straight line equation (y = a + bx).
Whereas:
Y = total costs
A = fixed cost. x=volume of activity. B = variable cost per unit

2 (15 5 pukiall CallSl Y e sl GRS M) (30 L sl (e G RSN ) gl 5 1)
s gy BLED (5 e ials el wie Lol Lo g 431 Y1) el s Alalantly 35 Ll o Ak
e Aalaiall 213l cualia) g LA il hase Ao gema O b 13) LERY &y srac ) ASLCAYL L ginsdl)

EXAMPLE: Alnarjes Company has incurred the following shipping costs over the past
eight months:

Shipping unitsold  cost
January 6,000 $66,000
February 5,000 $65,000
March 7,000 $70,000
April 9,000 $80,000
May 8,000 $ 76,000
June 10,000 S 85,000
July 12,000 $ 100,000
August 11,000 $ 87,000

With the high-low method, only the periods in which the lowest activity and the highest
activity occurred are used to estimate the variable and fixed components of the mixed
cost.
e bl y JaY) Ll lgd o6 ) el s oY) aslly e V) asll dayyh aadis
byl g Al Aabiaal) CallSall il Lgalasiia
solution

High activity level, July....... 12,000 $ 100,000
Low activity level, February 5,000 $ 65,000

Change.....ccooeveveevecnnnne. 7,000 S 35,000 ot die callall Jlaa) A s cllia o) Lo*
DJ.Q&EAL_QJS\SSL@\&J‘EJM i:w\a;;&}lwq
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245 o) — 365 le )
= saal gl sas gl 5 el dalK3l) ¥

Ll ol — Llas el

Change in cost $35,000/Change in activity 7,000=units Variable cost =S5 per unit
Fixed cost = Total cost - Variable cost element

=$100,000 - (12,000 units x S5 per unit)

= $40,000

The cost formula for shipping cost is:

Y = $40,000 + S5X

(REGRESSION) Ll | east squares method s rall Cilay yall 43, )1

The least squares method (or the algebraic method as some call it) is one of the most
widely used methods for the idea of regression models, that is, it tries to avoid the most
important defects of the previous (graphical) method when determining the idea of
linearity in the mathematical method. To determine the aforementioned regression line,
the straight line equation is used for this: -
gl 5 S Lalasid Gob ST sanl( el ey LS &y peadl il )5 jaaall iy sall 33 5h a3
3l ezl o gluYL el 5 S8 Laaaas wie (bl ALl 48l Csanll aal alds Jslas gl laasy!

-l Jadl) Alalas GlA andtien QA jlaaiy) lad
Y=A + Bx oot =pa
That is, the cost element = fixed part + (coefficient of variation x activity volume)
(Bl aaa x il Jalae) el jall =48 paie (o
This is in light of the availability of data on activity levels (n).
(O)aae Ll Ol gie e cilily 868 Jha A 1
It is possible to rely on two simultaneous equations with two unknowns to extract both
A and B, where:

s o)f e IS A0 Gl seaall il il (il e alaie W) oSy 43l

(1) e X (= 0a e
(1) total Y =N x A + B ( total x)
(2) ~-------—-- 200 o et gaXi=ga 0 g
(2) =mmmmmmmmmmn total xy = A x (total x ) + B(totalxz)
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Where n=the number of levels at which costs are —ll<ill lgic (uldi Il Gl siwall 2o =) Cua

measured

total x = the sum of activity units at all levels<ib siall 488 2ie LUl Glas g & gane = (0 e g
total y = total costs for different levels of LLill &b e calide e Sl ¢ sane = (o e

activity

il ssall Ciline e Jaliall Callix Ll Chlas 5 e Juals f sene= a0 e
total X Y = the sum of the product of activity units x activity costs at different levels

total x?= sum of the square of activity units LLiill Cilaa 5 & 30 & sane = 20 e

Example :The following data express activity levels and associated costs In one of the

industrial companies for the last six months of last year

B oo iy deliall clidal) saal A Lgy Aoy pal) (il g LAl Cily i e gt 400N L)

alall alall cpa 8 pAY) Ll i

Mixed cost Activity volume (working Month
hours)

1750 100 Seventh
1875 150 Eighth
2250 300 Ninth
2500 400 Tenth
3000 600 Eleventh
3250 700 Twelfth

Required -:Determine the fixed and variable parts of mixed costs according to the

least squares method

Solution

16
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2 Mixed cost Activity Month
( X) ( X Y) volume
(working
(y) hours)
(x)
10,000 175,000 1750 100 Seventh
22,500 881,250 1875 150 Eighth
90,000 675,000 2250 300 Ninth
160,000 | 1,000,000 2500 400 Tenth
360,000 | 1,800,000 3000 600 Eleventh
490,000 | 2,275,000 3250 700 Twelfth
1,132,500 | 6,206,250 14625 2250 Total

total x y = A x (total x ) + B (total x?)

14625=6 x A+ B 2250
6,206,250 =A 2250 + B 1,132,500

6 =N o sl

POl Cpilataall (ol gaill (iSay Jgaad) 128 by adl g (e
total Y =N x A + B ( total x)

(1)

(2)

(1)
(2)

14625=6 x A+ B 2250
= A 2250 + B 843750

5,484,375

(1) X 375 23(6/2250)

(3)

17
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(3-2) Csilalaal) 7 ko
721,875 = 288,750B
B=721,875 /[ 288,750 =2.5$
ia "1" by Aslaal) 3 BJ A 8 Gy gaillyg
14625 = A6 + 2250 x 5625
A 6 = 14625 - 5625
A=9000/6 =1500$
L) Zlidy) by gima G (o Ll ailill) oda aladicd A (e date g Jall daua cpe 2SUY oS4y
-1 b La Badl (bl jgddl) Jg¥) ALY (6 gieall Ao olId Uida g8 | JUal) 8 33
(il aaa x idall Jalaa) + cyldl) ¢ 5ad) = cagdial)
That is, the cost element = fixed part + (coefficient of variation x activity volume)

25x100 + 1500 = 1750 Sl 8 53 ) sl gl Aadll A g

Example homework: The following data were extracted from the records of an industrial
company and related to the months of the year 2019

2019 Lindl jeils Ailaiall g Jue lall S Al (gan) Mo (e Cin Al Y1 iyl

i X Yy

1 90 1500
2 150 1950
3 60 900
4 30 900
5 180 2700
6 150 2250
7 120 1950
8 180 2100
9 90 1350
10 30 1050
11 120 1800
12 60 1350

Solution

18
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If we assume that there is a logical or causal relationship between the cost of
maintenance and the operating hours of the machines, we limit ourselves to Machine
operating hours as an independent variable in estimating the maintenance cost, the
straight line equation for the cost will appear as comes:

clele o Jlai¥l s o oilal Jiris) cile b 5 Alall 2813y A 5l dilaie Ao 3 ga g L g8l 13
o LS gt AN o giaall Taal) Alolaa () Ailouall G655 3 Jise e A1Y) Juaid)

Y=a+bX
(el yusciall AN Ailpall 48 Y = o) Cam
(Jiisa _ypiia) CAlSall Jaid) e L= X
a4l 4akli=g
(L)) Jazs) Bas) 1l Bas ol 3 yuaidl) AalKli=p
aiiial) Ladll Aalae Sl S laa b 53 5

bl aiiul b 5 a) sl Taal Asbee Cul 5 308 2 s _yhaall Cilay yall iy hal Uil
ol

SY=na+bYX.....ooceeee. (1)
SXY=aSX+bSX2.... (2)
o))
N = el aac ( lalial sac)
e seoa Y el gpand Aall 26T panaf]
X =5ad & gana X( Sl Jid) Cilelu g gana)
2X = 3 aff Gl ye g sane X( QS Juaid) el
XY =Sadg sanaX ol Adg paay
() Jsanll LS
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1 a0 1500 8100 135000
2 150 1950 22500 292500
3 60 900 3600 54000
4 30 900 900 27000
5 180 2700 32400 486000
6 150 2250 22500 337500
7 120 1950 14400 234000
8 180 2100 32400 378000
9 90 1350 8100 121500
10 30 1050 900 31500
11 120 1800 14400 216000
12 60 1350 3600 81000
Total 1260 19800 163800 2394000
Al g (oY) Gaitlalaal) (alat (e
SY=na+bYX.....ooceeeo. (1)

SXY=aSX+b3SX2 ... (2)

19800=12xa+ b x 1260 ................... (1)
2394000 = a x 1260 + b x 163800 ..............(2)
2079000 = 1260 a + 132300 b ......cceceeeeeeeeee(3)

Al e Jians (2) Aaladll (34(3) Ualaall C)L.U(g) Aalaall & (105) 4 (1) Aaleall @ g

315000 = 31500 b
b =315000 +31500
b=10

Al paladll aey 40l

Baa) 5l delll 3 yuaiall dalSl a5 10 = il Jaxa )
o LS5 g e i (1)Aabaall i b Gl i gat

19800=12a+1260b
19800 =12 a+ 1260 " 10
19800 =12 a + 12600

12 a =19800 - 12600

12 a=7200
a=7200+12

a =600

20
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foil S il L) Adlaa A 2l 038 (ay sad Sy s
Y = 600 + 10 X
oLl il shase (pe (5 siuse ) ASH Cadlall i il Aalaal) s3a DA (1
o LS 43 () oS (Rl 3500) ol (s e (8 A o 3 Le ) 131 Jlied
Y = 600 + 10 * 3500
Y = 600 + 35000
Y = 35600
Ul 35600 (s st ((Acbu 3500) bl (5 e (& AN A8kl o) (gl
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ALY aa , dgalai@y) b 4paS a4 La ol 1 Ll

Second: Explain what the Economic order quantity, with examples

Introduction deiia ¢

Every product ready for use or consumption is made from a basic raw material o
r a combination of two or more raw materials. For example, a car tire product is made
from more than one raw material, which is rubber and steel wire. Therefore, the cost of
raw materials constitutes an essential part of the total cost of the product. So the
interest became in a way It significantly reduces the cost of raw raw materials by
activating effective control tools and improving the physical flow of raw materials to
production lines more accurately, which helps to manage product costs very accurately.
Slo S sl Aa citle (e e ) Al Al B3l (e fsiae | SINGELY) ) ATy ala aiie JS
A4ISH a3 AL | A0V ) ) g Jalhadd) a5 Al Bale (e JS) (e f stian ) Ual miie JU) Qs
A8 Qs e S JSas alaia ) el 13| geiiall Allea) QS (o aild £ Ja JS35 SR 40 5Y1 ) all
Lo ghadll I A0 g¥) o gall (gall) (5050 ppesni g dgle Alladl) 4650 <ol 5la) Jpmdi JA (e alAD A0 5Y) 3 sall
i JS aiial) CadlSs 3 ) e el Lay o) JS5 daalisy)

Types of inventory materials &5 3l 31 gall £153)
Inventory is a quantity of materials (raw materials, materials work in process, finished

products) that are under the control of an establishment and kept for a specific period of

time awaiting their use or sale.

Lo sliie gylasd piads ( pial) dals cilaiie ,Juinil)l Cnt dlge ,adg) dlge ) Ssall (e LS 25 (53l
e ) Lgaladngy Ham) duma daia) 82l Lo Jadiatg

Classify Heizer & Render the types of inventory materials as follows:

1. Storage of raw materials: These are the materials that are used in production

processes and that are used in the production of final goods.

gl o daas allgd sl alaleall daaan o Sl ale Wl a 0N gl SN
LAAlgal) adud)

22
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2.Storage of work—in— process materials: These are materials whose manufacturing has
not yet been completed and require some operations in order to become finished

goods

e L T T S e s SR PSS TS
Ailg e sl A1 Slileal)
3. Storage of finished materials: These are finished products that are likely to be kept in

stock to meet future orders or sold directly to either the user or consumer.
o) Al e allg aatanl) & LaSall Ll il 8 r aall ALl ap W) oy S
;b_u,, J_,J,,L\A ds_d\_q 1_6_,=\_| V’:‘ *\‘9\ Z*\\QB"Q “u\“ Q\ \\Lu“ a :q\"\‘ O') A ,Qn . 5. ‘ s.gjé é'};\y‘
cllgiall o) ardiiuall

4. Storage spare materials: These are materials that are used for maintenance
purposes of tools and equipment and are considered of great importance to maintain

the efficiency of operations
50 Aad) 3 iy lanally lgaS Asball )Y ansies ) slgall 2yt Adalas¥) slgall (pia
Glleal) 5. e Lliall

Inventory cost structure &9 3!l Cill<il) JSua o

1- The cost of preparing the order: It is the cost of issuing the order, and this cost begins
with issuing the purchase order and ends with the arrival of the goods or material to the
store, and includes the costs of (issuing the document, transportation, communications,
preparing the machines and production lines in the case of internal production). This
cost decreases with the increase in the quantity of the order and increases whenever it
is There is a frequency of re-ordering, which decreases as the quantity ordered increases

s aladl Jsemss iy ehal) Gl laals Tag A3KN b3ag ,dulhll jlacal 445 o Aulhll M) Aa
A 4 WY haghdy Al et a¥la) il el jlaal) QIS acatiy |, GOidall salall
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2—-Cost of holding inventory: These are costs incurred by keeping stock, determined by
a percentage of the cost of stored materials, such as warehouse rent, insurance,

lighting, damage, ...etc.

Lowd 233 PIA e Lot g, (g )8l Bl P (e s 2 CallSs ag 1 oujadly BldiaY) dalg
e 8l sl pualdll, Gl Hlagl Gl Jia ddg Al algall A8 e A

3— Stockout costs: These are the costs associated with not having enough inventory to

meet demand, such as lost sales or the cost of expediting production (waiting cost) or

shipping.
o) el 5Hled L S allal) 4l LIS ET SN " P JPR P dasiyal) CanllSs PEYRRCTREN Al Ay
Cadll Aal<s gl (s CadlSs) o L) ao pud 44l

What are the types f inventory costs?

gdlaa) g | Aalaidy) callal) dag asgda o
The concept of Economic order quantity (EOQ)and its objectives

The Economic Order Quantity (EOQ) is a model in inventory management used to

determine the optimal quantity to order in order to minimize the total inventory cost.

The total inventory cost includes holding costs, ordering costs, and the costs of

purchasing inventory.

sl aadieg (5 53l 3500) (B z3gad & (Economic Order Quantity - EOQ) 4baidy) cullall ZuaS

s ) CallSs Jadi ¢ 5yl Adlan Y1 RS () aall Adlan ) A4S (i Llls oy S STl 20e)
s Al e i allSs g callall CallSS () 5 jaally

The EOQ model aims to balance these costs to determine the quantity that should be
ordered each time to minimize the overall cost. The primary goal of using EOQ is to
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improve inventory management and reduce logistical costs related to storing and
ordering products.

S oy Cuma 3 5e S (8 Lealhs any (Al ApaSll aaatl CallSill o301 58 38a3 ) EOQ zased gy
Al At 501 NS (o N 5 (55 33 5,03) pnd 58 EOQ Al (po ol Cingl) A0S 43l

Leadhs g latiall (o A%
O9 5l 30 (A Apalai®y) ullal) 43S 73 gal aladlin) A gh o
Benefits of Using EOQ in Inventory Management

Cost Minimization ke

" Efficient Resource Allocation
Reduced Holding Costs :

~ " Fewer Stockouts and Lost

Improved Cash Flow . % Sales

~ > Better Supplier Relationships
Balanced Reorder Frequency *

" Optimal Use of Warehouse
Space

— Risk Mitigation

Applicability Across o
Industries

EOQ 4uibai®y¥) callall dpaS apand ¢yl g8 o

Laws for determining the Economic order quantity

EOQ 2 A ) Adalaal) 1 Y )

Formula Approach : The EOQ can also be found by means of a formula that can be derived mathematically:

J H

- where,
2A0 =Fe Iyt TV 0"
= E = Economic order quantity (EOQ)

A =Annual demand
O = Ordering cost
H = Holding cost per unit per year

E = Economic order quantity (EOQ) 4baiy! clhall 4

A = Annual demand 2 sell (3 5 sl llall

O = Ordering cost k!l Callss

H = Holding cost per unit per yearaiw / 3aal 552 g3 Lldia¥) (o<
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: b e dlag) EOQ S Lpnai ) Astaal) Al JMA (e (S0 1 il
Secondly: through the result of the main EOQ equation , the following can be
determined:

Gladhall aae cludal) -1

Annual demand A

(i)Number of Orders = £0Q = E

( Ol o A 1) 3 sl cibllal) ) 5

1
N

365 days
Number of Orders

(i) Frequency of Order / Time Gap between Two Orders =

ullal) 48l laa) -3

A
(iii) Total Ordering Cost = Number of Orders x Ordering Cost per Order = E x 0

O 9 Al Bliiay) 48 sl

1
=3

1
(iv)Total Holding Cost = 5 X EOQ X Holding Cost per kg per year

(33l & giad) AR Naa) -5

Annual demand
EOQ

EO
(v)Total Annual Cost = ( ) X (Cost per Order) + TQ (Annual holding cost per unit)

OR
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"l‘otal Annual Cost = v2A X0 X H \

% Assumptions of the EOQ Model Z 3 gad L) 8|

The EOQ (Economic Order Quantity) calculation relies on several key assumptions:
‘ot ) clial Y e e e FOQ wlua Maiag

1. Demand is known and assumed to be constant.cul 43 [ yidy s a5z calkall
2. Materials are consumed evenly throughout the year.
el Jlae e ol o) gall @i S5
3. The ordering cost and holding cost per unit remain the same over the period.
3l J) gl oo LS 3as g JS) Lalaiay) A8SH 5 allal) 481S5 (Yot
4. There is no inventory upon receiving each order, or a certain amount of materials is
kept as safety stock at a fixed level throughout the period.
Ik Cull (5 e die (el 5338 g Lading 3 5o Al LAY oy i Gl IS S S (55550 225 Y
.5 yial)
5.The lead time, which is the time gap between placing and receiving an order, is known
with certaintycsidl 4a 5 e 485 jma 4Dl 5 allall 20385 G dyia ) 5 sandll HUSTYI 5 58

*% Limitations of the EOQ Model Zigal Gladaa

1. For perishable goods, this model cannot be used.
z3sall 138 aladin) (S Y ¢ Gl ALY ailiadl Alls
2. Management may prioritize obtaining bulk discounts through price negotiations
rather than reducing inventory holding costs. If the bulk discount is greater than the
holding cost, it is better to buy more. The EOQ model is ineffective in such cases.
Llsay) 48lS 586 e Yo (Jlend) o Gaall DA (e deally aad e Jsanlly ST 5 oY) g
Jab 2 EOQ gised . el ol i Jumd¥) (e ¢ Baliia) 445 e ST dleally aadl) (IS 1) (5 33l
Al oaa Jia
3. When the demand for the product is volatile and cannot be accurately predicted, the
EOQ model will not be effective in this scenario.
o3 Jia b Yiad EOQ zisal 058 o ¢ punem IS8 40 5l (e Yy Uliie ginal) e allall oS, Lavie
PLEN
4. In highly competitive markets, such as the automobile industry, manufacturers may
make arrangements with vendors to establish their facilities near the manufacturer’s
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plant. Vendors supply various items as needed. The EOQ model is ineffective in this

situation.

o ol agaiiae AalEY il ae il iy griaall 385 ¢ (L) Aelia Jie Audlil 5308 3 8

&b Jlad e EOQ zhsad (i sV (e iy (ol (A Adline jualic )5 ()52l o6y Aniadll 48,30 pians
Ad) p2a

(Aalaidy) ZLN) 4pasll) ZUY) dada aaa ¢ BEIG
Thirdly: Production Batch Size (Economic Production Quantity - EPQ)

When an industrial company determines the production volume of a diverse range of
products it wants to manufacture, it must establish the production volume of a specific
product before shifting to the production of another product. The company incurs
certain costs when transitioning to the production of a different product, and these costs
are referred to as setup costs.

u;:awaﬁdﬂjé\l\&w\w&ﬂ&wwctb\ﬁ\@dﬂﬁwhwzﬁﬂa\e}ﬂum
e e Y1 Gl GlIS 13 e AT ke

1. Cost of changing equipment settings.s jaY! cilalac) yad 48
2. Cost of obtaining different ready raw materials.s jals adlise 43 g o) g0 Ao J poaall A8<S
3. Cost of changing tools.<) ga¥) s 44lSs

"After manufacturing the product, it must be kept as finished inventory. Certain expenses
are incurred, such as rent, insurance, etc. These are similar to the holding costs used in
the EOQ formula. In summary, setup costs are akin to the 'ordering costs' used in the
EOQ formula. Therefore, the EOQ concept can also be used to determine the economic
production quantity / optimal operating size / economic batch quantity. The equation for
determining the economic production quantity is..."
pda | el Y La g aalill g o) Jie Claiil) (ommy 0SS 2y Al 05 35S 4 LAY Cangy ¢ il aainal ay
AAISH" 4l lac ) AlSE Gl ¢ Ganalilly L 13) EOQ). drpa A deddiuall " (5 Haally LliiaY) A8l 4,5
/ AalaBY) LY LpeS ana 202 FOQ asgde aladind Liayl (Say <l EQQ, dxpa 8 daddial " Ll
. LY Y 4 ana 2p0a Alalee Aalamy) dadall A0S / JiaY) Jiriill aaa

— where,

2AS E = Economic lot size / Economic batch quantity / Optimum run size
H A = Annual production
S = Set-up cost
H = Holding cost per unit per annum
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Lol iyl s s E
A sind) LY 4aaS T A
Aacy) s §

O3l LléiaY) Cadl<s ; H
dal e Lalaidl) ZUsY) 4 dagh aladinl Loayl oSy
¢ zWY) Gllee 22e Gl (1)
¢ Ol (palliie Gl G el Juaall / 2L Jandis ) S5 (2)
5 ¢ caatil) / dlac ) / o Lasdd ddleay) AalS) (3)
O aally Llaia¥l /5 jball 4S5 lea) (4)
Adlaal) 4 sull Aalil) (5)
e e e

. . ) Annual Production
(1) Number of Production runs =

Economic Lot Size
(1) Frequency of Production mn/ Interval between Two Consecutive Optimum Runs
365 days
* Number of Production Runs

(111) Total set-up cost = Number of production runs x Cost per set-up

(iv) Total Holding Cost = 1/2 x Economic Lot Size x Cost per unit per annum

(v) Total Annual Costs

Economic Lot Size
2

where,

A = Annual production

S = Set-up cost

Annual Production . .
= ( ) x (Cost per set up) + ( ) X (Annual Holding Cost per unit)

Economic Lot Size

Total Annual Cost = v2 XA xS X H

H = Inventory holding cost per unit per annum
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Applied cases 4fiulai c¥la o

Example 1

COSMAX company purchases a raw material from a supplier at a cost of 40 S per kg.
Total annual demand for this material is 10,000 kg. Cost of placing an order is 20 S.
Storage and holding cost is 2.50 S per kg for a year. Shortage cost COSMAX.

Required // calculate EOQ

Solution

Example 2

A producer has estimated annual purchase requirement of 30,000 units of a material.
Unit price of material is 50. Annual cost of carrying inventory is 20%. Order cost for
ordering an order is 60. Find out Economic Order Quantity (EOQ).

Solution

Example 3

From the following information, calculate Economic Order Quantity (EOQ) and the
number of orders to be placed in one quarter of the year :

(i) Quarterly consumption of material 2,000 kg

(ii) Cost of placing an order : 50 $

(i) Cost per unit : 40S

(iv) Storage and carrying cost = 8% p.a. (on average inventory)

Solution
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Compute the Economic Batch Quantity and total number of batches during the year
from the following information:

1. Average number of units to be produced in a month 2,000 units
2. Set-up cost per batch 60 S

3. Total cost of production per unit 55
4. Annual rate of interest 10%

Soluti

Example 5

The following data for LOUIS VUITTON company :-

- purchases a raw material at a cost of 30 S per unit . —

on

- Total annual demand for this material is 12,000 units. Cost of placing an order is 25 S.

- Storage and holding cost is 3 S per unit for a year.

Required // calculate

Economic order quantity .
2- number of orders .

Frequency of order .

4- Total ordering cost .
5- Total holding cost

Total annual cost
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Third: Clarifying the concept of materials, distinguishing between direct and
indirect materials with examples

Materials: - The materials are a major part of the total cost of producing a product and
are one of the most important assets in majority of the business enterprises. Hence the
total cost of a product can be controlled and reduced by efficiently using materials.

Ll 8 Jsa¥) aal e Bl s a5 e it ZLaY Alleal) A e Ui ) 12 3o 3 gl yiad - 1) sl
Jladll aladia¥) JBA (e Lol 5 peiiall dllany) A8 A aSacll (S 131 4 Hlail) Clansall (o (alanll
J\)Aﬂ

The materials are of two types, namely: La g g 55 N 3 gal) anidis

(1) Direct materials: The materials which can be easily identified and attributable to the
individual units being manufactured are known as direct materials. These materials also
form part of finished products. All costs which are incurred to obtain direct materials
are known as direct material costs.

Cajad g clgainal oy (Al A A il sl ) (s at s A g Lele Coal) (S ) ) gl a3 il ) gal)
e Jsanll 288 ) CallSill auea Al colainall e 12 Ja Wl ol gall 22 (<G5 3 pdilall o) sall andy
5 pilaall o) sal) Call<iy (o yal 3 pdlal o) sall

(2) Indirect materials: Indirect materials, on the other hand, are those materials which
are of small value such as nuts, pins, screws, etc. and do not physically form part of the
finished product. Costs associated with indirect materials are known as indirect material
costs.

Jie 5 ppaa dad I3 (5S5 A) o) gall @l B alial) e ol gall yiad oAl Al e bkl e 3 sl
dagi yall CallSl) (o yad | Al amiiall (e Ul 12 5 IS8 Y g cdlld ) Loy ¢ aabisall 5 ¢anball 5 cJaal gucall
Bl e ol gall il B pSlall e ol sally

Practical Example: Furniture Factory
Let's assume we have a factory that produces wooden chairs. Let’s take a look at the costs
of direct and indirect materials:
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Materials Used:

Wood: 10 kilograms of wood per chair.

Paint: 0.5 liters of paint per chair.

Additional Materials: packaging materials , costing $2 per chair.
Cost of Direct Materials:

Price of Wood: $5 per kilogram.
Price of Paint: $10 per liter.
Cost Calculation:

Cost of wood per chair:

e 10 kgx5 USD/kg=50 USD

e Cost of paint per chair:

e 0.5 litersx10 USD/liter=5 USD

e Cost of indirect materials per chair: 2 USD
Total Cost of Direct Materials per Chair:

50 USD (Wood)+5 USD (Paint)= 55 USD

Conclusion:
The cost of direct and indirect materials for producing one wooden chair is $57
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Fourth: Knowing the impact of control on materials and accounting
treatment (restrictions) with examples

control on materials 2 gall o (aSaill) 4081 o
Meaning of material control (EEE economy, efficiency and effectiveness)

Material control can be defined as a comprehensive framework for the accounting and
control of material cost designed with the object of maintaining material supplies at a
level so as to ensure a uninterrupted production but at the same time minimising
investment of funds in material. In simple Inventory control is the systematic control
and regulation of purchase, storage and usage of materials in such a way as to maintain
an even flow of production and at the same time avoiding excessive investment in
materials.

(Alladl) g 3o ESY) ALatBYY) ) gall o 4 ) Mgl

Slo Llaall L)) Cangrs eal sall CadlSs A pa s bl Juli ) il e o) sall o 3,1 Cay a3 (S
‘;d\ym)uih\dgﬁ:&jl\wﬁ‘;jj“_qiéjhﬁ'cMcmj\wuwa\ﬂ\a\s\ujwngm
Cpaniat Ay ylay 3l sall aladiul 5 (535 5 el il Jasall g daliial) A8l 58 (ps Rl b oSl el 3l gall

) sall L da sl LeiinY) caind G gl i b alitie JS5 LY

When we talk about Material Control in the context of EEE (Economy, Efficiency,
and Effectiveness), here's how each concept applies:( objectives of inventory control)

JS Gkt 4 el ¢ (EEE)Aundl) g 35Ut g Sl (gl 3 3) gall & (8 1) aSadl) e cpaall 2
(N sall) Oyl Ao 48 1 Calaal) o geda

1. Economy:

« Economy refers to the cost-effectiveness of managing material inventory. In the
context of material control, it means ensuring that materials are purchased and
stored at optimal levels, so as not to incur unnecessary costs.

e lly iy e pall A1 e Bl 8 csalal) (5 aall B3] 8 A Cum (e dalladll LY jaiy SLaEY)
sal e S S5 Ctatl e ey L 385 5l o1
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« The idea is to avoid over-purchasing or holding too much stock, which ties up
capital unnecessarily.

LSJJ)mJLds.ﬁudw\wiJhﬁWcUJM\wb‘ﬁﬁz\%&LuﬁaY\jiL)ﬂ\;\‘).sﬂ\&_\.ta.i‘“sé1:)533\

. Example: By accurately forecasting demand and using just-in-time inventory
practices, an organization can buy materials only when needed, thus reducing the
amount of money tied up in inventory.

aie L 3 gall ol i Aalaiall Sy ccanbiall gl 8 3 pall il jlas aladind 5 callally Gaall sl DA
oAl ddasi yall J1 se¥) AaaS e I8 Las cAalall

2. Efficiency: sslsll

. Efficiency refers to the optimal use of resources, which in the case of material
control, means ensuring that materials are used in a way that maximizes production
while minimizing waste.

325 A8y lay ) sall aladind Gleia iad el sall 8 oSail) Alls 8 ca ) sall Y alatia¥) 1) s selalle
YT aall ) a8l s ae LY

. Efficient material control systems help ensure that materials are available when
needed, that they are stored properly, and that any surplus or waste is minimized.

o (i) Q5 cmaman IS ek 3305 Aalall e ol sall 358 (e 3 2ol ) sall 8 0 331 oSail) Ak
S sl ) gl

. Example: Implementing barcode systems or automated inventory management
tools can improve the accuracy and speed of material usage, reducing waste and
ensuring that stock levels remain steady without overstocking.

S8 J) Laa ¢ sall aladinsd de g 483 Cpuundd () ¢Sy i gall (5 Al 35100 <l sl sl 2 6S 5Ll Akl 2,ds
Ol Bl 5 (053 8 e O 5 Al il gluse ol8y Gy

3. Effectiveness: dulsldll

. Effectiveness in material control means ensuring that the right materials are
available at the right time and in the right condition to meet production
requirements. This ensures that production schedules are met without delays.

35



Cost Accounting Assistant Lecturer: Murtadha Kadhim

Al Apuial) Aally s caliall gl dagaall ol gall 85 o ST i o) gall & aSal) 8 Alelal)
M 5ali G g ) Jghas al 5V ey 138 5 WY il

. Effective material control ensures that the organization can meet production goals,
quality standards, and customer demands.

Glalial Llis agall juleay Y Calaal s e dadaiall (Sai o o) gl 8 Jledll Saill pacay
= 2l g DRyl Gl e @) T ol
el

« Example: Proper forecasting and material planning ensure that a manufacturer can
meet production deadlines without delays caused by material shortages, which
directly impacts the quality and timeliness of the final product.

daals i als (50 2 WY1 del sar el gl (e piadl) (Sl o ey 2 sall Caliall Jagadil) g asiall gl
el il alisi 2o ga B ga o il S i Lae <l sall Gaii (0

efficiency 3¢ Lasy| effectiveness aailaar

howtodoitoias o - what to do Jasiisie

how much st @igs how well ccsuuoags *

OO LL A)LEe Ol 300 euds © fuc ) ATy Sl il ulas ¢

Jaeasdl 3)lgel) JSa¥Wl alasiu ¥l * | | Jaladdl poud deawdll Blaal G850
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Summary:

. Material Control in the context of EEE focuses on three main principles:
1. Economy: Managing material costs effectively to avoid unnecessary
investments.
2. Efficiency: Using materials optimally to avoid waste and maximize
production.
3. Effectiveness: Ensuring materials are available and in good condition to
meet production needs and deadlines.

) (3l A6 e Sy (EEE) Auleldl) 5 36l 5 slai¥) (3o 8 3 sall 8 (48 l)oSille
A sl e ol Hleiin) caiadl Jlad JSE o sall CallSS 5 i) -alaBY) ]
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What are the objectives of material or inventory control? With a
diagram showing this

Accounting Entries (Journal Entries) (25:4) dsalaal) ciladlaal) o

Materials purchases entry 3/ gl £ & 28 -1
Xx De: Stores Materials Control 3 gall ¢ 3L A ya
xx Cr: Cash
xx  Or Banks
xx Or Suppliers (©s81) Geie
Direct Materials Issues to production U I 3 &bl 3 ga i pa 28 -2
Xx De: Work in process control  Ja&ill cial z Uy 48 ya
Xx Cr: Stores Materials Control
Direct Materials retuned to stores ¢ jtall ) 8 jdilall 3l galf 3ale) 28 -3

Xx De: Stores Materials Control

Xx Cr: xx Work in process control

indirect materials issues 5 il € 3 ga i pa 13 -4

De: sundries (xs5a (s
Xx M.F.G.O.H control
Xx marketing cost control
Xx administration cost control
XX Cr: Stores Materials Control

indirect Materials retuned to stores ¢l ) 3 pdilu & 3 gall Bale) 48 -5
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Xx De: Stores Materials Control
Cr: sundries (pusSa (wa
Xx M.F.G.O.H control
Xx marketing cost control

Xx administration cost control

spoilage & deficit stores materials control 2 sall (A33aall Jaall g Cilil) 358 -6

There are two methods for handling damage and inventory shrinkage of raw
materials, as follows:

Db LaS 2 g A g¥) 3 gall A Jaadl g calil) Aatlaad il b U of Lale

s The Inflation Method: In this method, the unit cost of materials is inflated by the
cost of the normal spoilage & deficit units by excluding the normal spoilage &
deficit units from the purchased quantity. The unit cost is determined using the
following formula:

Inflated Unit Cost = Purchase Cost (Balance) / (Purchased Quantity or Balance - normal
spoilage & deficit Units)

Clan 5 ey lld g e (a5 QAN Calas o) AGSH o) gall (e Baa gl AES apdizad S 3 sandial) 48y h
Al Alales s Bas 6l AAS aaaT A o 3) yihal) sl (e candal) alill

(k) Glill Calas g — dpa )l gl Gl jidall 4aS) | () il sidal) 43S = dadicadl sas 5l 43K
(2ol Saall g Al A8 (o) Jaad aly Y Baa) gl) B gl) ARIS andiiat day A8, Jal) 03a (3B g 1an agea 1 ABiadla

< The Non-Inflation Method: In this method, the cost of normal spoilage & deficit
Is calculated, and the following journal entry is recorded:

A 3 ) Jimasi s panpalal) R AAIS Closial oy 3 1ppduall) ase Ay sk
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verification spoilage & deficit stores materials control jaall g cilil) L) a8-A

Xx De: spoilage & deficit stores materials control 3 gall jaal) g Calil) 48) ya
Xx Cr: Stores Materials Control

classification spoilage & deficit stores materials control Jaally i) civial 18 B
De: sundries (55 (s
Xx normal spoilage & deficit stores materials
Xx non normal spoilage & deficit stores materials
xx Cr: spoilage & deficit stores materials control
closure normal spoilage & deficit stores materials (axhll jasll g Calil) G 18 -C
Xx De: M.F.G.O.H control
xx Cr: normal spoilage & deficit stores materials
closure NON normal spoilage & deficit stores materials (uhll & Jaallg Gilill 3l a8 _C
Xx De: Stores keeper(safer) &3l (!
xx Cr: non normal spoilage & deficit stores materials
Al (e pdalioy g Ade A8l Jany 48 38l Cpal Jaad) o) G G IS 3 3 Adiadla
(0 R

Jia,.,. sibuddl g ZLY) Glaa o Jaay 46 jUal) Cag Bl gl 3 1Y) Jaad) o) Al Guse (LS ) Lal
Al & p o gllaal) il gal) ¢ 93 3 gall (lany ¢

Db Las 28 (958

Xx De: profit & loss account

Xx Cr: non normal spoilage & deficit stores materials

inventory levels laws ¢z 33 by giaia ¢yl 68 o

Inventory level rules refer to the guidelines and principles used by companies to
organize and manage inventory effectively. These rules aim to strike a balance between
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meeting customer needs and avoiding excessive storage costs. Some of the key rules and
principles related to inventory levels can be summarized as follows:

I s oAl 3l 5 aadatil S Al Leaadiud Al ol Y ae ) 8l () eds s 8l Gl e (il 68
e 330 AT GASS Caiady oSeall cilalind Au G o3 a3 ) Congd il Al ada Jlad
b LS g ) il ey Aalall ) {galiall 5 il 8l o iang (il

(Maximum Inventory Level) =¥l aall &5 334l-1

Maximum level= Reorder level + Economic order quantity - (lower consumption x lower
reorder period)

(Ll ale Y 50 i X Dlgind Ji1) — LobaB¥) (b 40S + ) sale) 2 = e V) aal)
OR
Maximum level = Minimum level + Economic order quantity
(Reorder Inventory Level) ikl sile) s -2
Reorder level = Higher consumption x Higher reorder period
Gl sale Y sae el x giul et = il sale) aa
or

Reorder level = Minimum level + (Average consumption x Average reorder period)

bl 3ale ) 3ae Jaze x SN Jaxa) + oY) aall = (llall sole ) aa
( p )+ &

(Minimum Inventory Level) #3¥) 3l &g j3al)-3

Minimum level = Reorder level - (Average consumption x Average reorder period)

( llal) sale) 300 Jaze x SDIgiLY) Jana) — bl sale) as = oY) asll
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Applied cases 4sbupkail) cylall o

Example-1

The quantity of material X purchased was 1,000 units at a cost of 98,000 dinars, and
the company set the allowable percentage for natural normal spoilage & deficit at 2%
of the purchased quantity.

Task: Process the cost of normal spoilage & deficit using the Inflation Method.

C}A_.MM Aol 4S8l s a8 ¢l 9800059433;} 1000 x 3alall (e ) yLiall deSl) il s Jla
8yl el e %2 rahall Saall g alil) ALl Ley

aiazail) 44y 5k alaiinly adall jaad) g Calil) A8 dallaa 1o sladll
Solution
Example-2

The MG Company purchased material (X), and the following are the details related to
the material

3alally Aalal) Ll b L 5 (X) saladl MG 4S5 < il

=

The quantity purchased was 200 units at a price of 380 $ per unit.
2. Upon inventory, the actual quantity in the warehouse was found to be 188 units.
8as 5 188 ¢y iaally Balall (e ddedl) dpaSll i 5 3 jall 2ie
3. The permissible percentage for normal spoilage & deficit and loss rate is 5% of the
book balance..cs sl aua )l (1 % 5 43 7 gemsall andall Saall g Calil) dus
4. The units that were non normal spoilage & deficit the rate were sold for 400 $.

Required:

1. Calculate the normal spoilage & deficit using both methods.
2. Calculate the abnormal spoilage & deficit, noting that the warehouse keeper has
been fined half the cost of the units exceeding the permissible rate.
Al ol 4y i 3 38 0 38l (el o)) Wde el e (bl Aadlaa 5 ¢y Hhally agadall Calil) dallas
L2 7 sansall Lasill = A Cilas )
Solution
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Example-3

1. Purchasing raw materials: Raw materials were purchased for an amount of 2000 S.
2. Materials issued to the production line 1500 $

3. Returning materials to the warehouse 2505

Required:
Here is the translation of the journal entries and the calculation of the final
inventory balance

Solution

Example-4

The following data was about an industrial Company

* The book Balance Were 2000 kg and through the actual inventory, they found in the
Shares 1980 kg.
* The spoilage units were about 30 units
* The allowance Percentage for normal spoilage was 1/2 or (0,005)
*In case of selling Normal D&S.and Up normal D&S.
. Normal D&S. sold Per unit for 110 $ and Up normal D&S.for 75 $.

Required/record the entries for D&S if you know that the Cost Per unit was 100 $

Solution
Example- 5- The following data was about an industrial Company

*The Purchased units Were about 3000 at total Cost 29400 $
*Through the Checking up of materials they found the total D&S were about 100 units.
*The ratio of normal D&S was 2%.

Required/Record and treat the Cost of D&S in the accounting Method

Solution
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Example - 6

The following data for one material which is using in The Production :- Economic order
quantity 1200 units Consumption, (10-20) unit with in a day Reorder period (60-90)
days.

Required:- Find the three levels for this material
Solution
Example - 7

The following data is for one material which is used in the production:-
1. Economic order quantity 2000 units.
2. Daily consumption (40-60) unit.
3. Reorder Period (2-14) weeks.

Required: Find the three levels for this material
Solution

Example - 8

Calculate the Minimum stock level Maximum stock level, Average stock level and
Reordering level from the following information:

e Maximum consumption= 150 units per day

® Minimum consumption= 100 units per day

® Normal consumption= 120 units per day

® Reorder period= 10 to 15 days

e Reorder quantity 1500 units

e Normal period =12 days

( Answer; Reordering level- 2,250 units; Minimum stock level- 810 units Maximum stock
level -2,750 units Avg stock level 1560 units
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Al ladyh Yol e Yol 2l dlyph ) 2 gall el ok Gl 1 Laald G
ALY ) 95 sal Janal) A8yl | Y gf sy

Fifth: Explaining the methods of pricing materials, the first-in, first-out

method, the first-in, first-out method, the weighted average method,

.with examples

Pricing the Issues of Materials ¢jall & 48 g¥) 30 gal) i (3 sk o3

) ) gal)

"Purchasing items is typically done at different intervals, and their usage occurs at

different times. In this case, the inventory of materials will consist of a mix of different

prices. To determine the prices of the materials issued, a set of methods is used,
including:"

S8 AR 03gy 5 Adline ol 5 2k Lgaladind ) LS ddlise <ol yb L Sole ol o) gl (ge Gl o)y o

0 e sana aladiul 2 3 A g paall O gall e daaily ¢ AlR Slaa¥) e Jald (e (S ) gall G4

e 3kl

(First in, First out) method (FIFO)Y.s) < pay Y5l (s i Lo 44 ) 1

(Last in, First out) method (LIFO)Y.s) o pway 1 pal (5 jidiy a4y a2

Weighted Average method (MWA)& aidl (5 ) sall Janall 48y a3

O ki oaal e sooball o sall s aad e a Y WY1 8 Al ol gall 38SE aaa i ]
4 vl Al prad) aaad UG Ui ddlide &) i s ddlide ey 405V ol sl (g il daiiall 45,40

Dol LS Lgal) AS 55 8 A5V o sall il e cilS S 0 580 5ed DA JU) o Ao LU o all
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On 5.11.2017 : 200 units @ S 500 per unit
On 10.11.2017 : 100 units @ S 520 per unit

On 25.11.2017 : 300 units @ S 490 per unit

el g LAl oda (8 Y G Lgaladial (a jal (AWl (e Baa 5 200 Llaal a3 26/11 Gl

b sl 3225 U1 490 51 520 sl saa g U1 JY 53500 = W laa) (Sas $53a 5 200 e 4dusi cangy 3
ke ) okl aaly ol gall Co e jrw s Q0 ¢ oSlef Jigadl e L 98 AT

(First in, First out) method (FIFO)Y sl <oy ¥ o (2l 51) s yidy e diy )l

"The First In, First Out (FIFO) method assumes that, as the name suggests, the materials
issued for manufacturing are the oldest materials that were purchased. Therefore, the
cost of the issued materials is calculated using the oldest purchase prices, while the cost
of the ending inventory is calculated based on the prices paid for the new purchases."

soaball ol sall Gl ¢ anl) s LS ¢ ol sall A8 Cluad (FIFO) Yl Cagamy Yl 2l 48y jla i
arg ¢ el il Jland anily 3 jaadl ol gall A8 Cludial 23y ¢ by Wyl b &5 o) sl a8 o ayiaill
Saaall il yidall de giaall Hlwl 5 el Al o) 5 3w 48l Cludal

(Last in, First out) method (LIFO)Y 5l <o yea T 8l (3,04l)) s il a2

"The Last In, First Out (LIFO) method assumes that, as the name suggests, the materials
issued for manufacturing are the most recently purchased materials. Therefore, the cost
of the issued materials is calculated using the most recent purchase prices, while the
cost of the ending inventory is calculated based on the prices paid for the older
purchases."
3 jalall ol sl o « au) A g LS el gall A8l Claad (LIFO) Yol Cageay 17al 2l 44yl (o s
¢elall Jland Gaaly 5 juaall ol gall A8 Gluial) oty ¢ il Wgl b a5 G o) sall Gaal s sl
Aol i,y il e ghaall a5l Al 8 2 sall (5 panall RIS il g

Weighted Average method (M.WA)& jaiall (5 sall Jaaall 45y ) 3
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"The Weighted Average method assumes that the materials issued at any time are
simply drawn from a mixed pool of similar materials in the inventory, and no attempt is
made to identify the materials as being from older or more recent purchases.

In the Weighted Average method, the average unit price is recalculated every time new
materials are purchased, and this average unit price is used to cost all material issues
until new materials are purchased again.

Price = (Value of balance + Value of purchases) / (Quantity of balance + Quantity of
purchases)"

e adalidg ‘:\LW. Cye adalioy L@.‘AM_‘ aly iyl ‘;J:EJJLAAJ“ A gl Q}J;}A\ Lo giall Ay yha (o yid
sy gl Al il jidiall e L) e o) gall st A laa (o) o) ja) ol &l 4l 5 ¢ Al 8 dglinall 3 gall

Gaog ¢ saaa A ga ;\)%L@_\Bﬁ'é_)ndsuﬁ'&hjl\Juhajhubaéuj‘)}d\b)m‘@)ln@
LQJA\B‘)AJ\jA;\Jﬁéé&ﬁ\fh&\)‘“‘@-ﬁé&g\lﬁBh)ﬂﬂkﬂ)—bﬁe\ﬂé—h&\

(31t ) sl A + dpem 5l A€ ) \ (il il A + 2yl A = pad)
Jall e dale claadla

N Jaally Jaw 8 pdlia 32l Jgl dpm y 2 gagaie ]
G Jaally a1 S s O Jially Jansi 3ale) gl o) ddac 29a g dic .2
(A8h cun g da ) (e 33 g 5) AN Jeall o g, Jae | gl G dsagdic (3
sy M o J5u 5 ana )l (e AU o - FIFO <ilS 3
ald N e seiaig (3)5) s1d A0 (e 380 as —een [IFO cilS 3
VAl 21 ALY (Q* P)= P audly Q AneSll S 2ie
P omudl 21,85Y (V/ Q)= V 4eidlls; Q xSl S3 2ic
Mra yrw AL salzall 4aSl) dad Jausd
palaall 43S () 5y iy yidiall da  aaly o i) 28 Jasd
SOl Jiall 8V Al & genay (o puall 08 Jaus
Bale V) aliey Jadd 3 e 3ale W) 28 Jas
Value 4edll S jaise---- .10
Price _aull 4alS jaida --- P
Quantity xSl 4alS jaite - Q

©ooNoU» D

3 el ) dis Jub ddae JS ar ) gall Jaxall 48y Hla alasind die ¢ 53l 13 (Gaka 11
(300 BaeS il A | ) sl A + s )l i = ) sal) Jaaa) ( 5ale)

L;Qd’.l&.ﬁ) dg.);d}.ﬁtz_’}‘).l@;zulk} JJM\}EM\@})A\)\EJQQM 12
é‘)ﬂ\ 08 [SEFVIEN ( )\MY\} e)u.u‘ﬁ\

Output = issued or sales ,,,,,, Input = Receipt or Purchase 13

Applied cases 4ipkil) eyl .
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Example - 1

The following data were extracted from an industrial company.
1/ 2 The beginning balance were 1000 units at Value 5000 ID.
1/4 The purchases were 2000 units at Price 6 ID.

1/7 The Purchases Were 3000 Units at Price 4. ID

1/10 The Issues to the production were 5000 units_.

1/12 The issues to the Production Were 1000 units.

1/15 The transferring units from dep A to department B Were 500 units
1/18 The return units. Which were issues in 10/1 500units.
1/20The Purchases Were 1500 units. at Price 4 ID.

1/22 The Purchases Were 2000 units at Price 5 I.D.

1/25 The Issues. to the Production were 4000 Units.

1/28 The return units which were issues in 25/1 (1000 ) units.
1/29 The decrease in the store were about 100 units.

1/30 The Purchases Were 2000 units at Price 4 I.D.

1/31 The Issues to the Production Were 2900 units.

Required/ Prepare a record ledger stores for this material using the three methods x
pricing

Solution

Example - 2

The following data was about(x) Company in January 2000-

1/2 The begging balance was 1000 units at price 10 I.D.

1/5 The Purchases were 1000 units at total Cost 11000) I.D.

1/7 The Issues Were 1500 units to the department (A).

1/10 There was a Contract to Purchase 3000 Units at total Cost 34500 ID, in Cash.
1/12 The ordering of materials from the stores about 1000 units.
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1/13 The received of materials were about 1000 units from the Contract in 10/1.
1/15 The issues Were 700 units to the department (B).

1/18 The transferring units were 100 units from department (A) to department, (B)
1/20 The received materials Were 1000 units from the Contract in 10/1.

1/25 The returned Units Were 200 Units to the Stores from the out Put on 15/1.
1/27 The issues Were 300 units to the departments of service Control production
and Marketing and Administration With a ratio 3:2:1

1/29 The received units from the Contract were? And Paid the Transfer expenses
about one dinner per unit in Cash and the Value materials didn't fay.

1/31 through the actual inventory there was the actual units (2676) and the ration
of normal deareas about 0.01%

Required prepare an account of stores ledger using all methods.

Solution

Example - 3

the following data taken from materials ledger of Nissan company for December :-
Dec. 1 Balance, 1,000 unit @520

10. Dec// Issued 500 unit

15. Dec// Purchased 1,000 unit @ $S24

20. Dec// Issued 250 unit

26. Dec// Issued 500 unit

28. Dec// Purchased 500 unit @526

30. Dec// Issued 500 unit

Required // compute cost of material used in production & cost of ending raw
material inventory according to :

1. FIFO method

2. LIFO method

3. Weighted Average method

Solution
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"What is the difference between inventory valuation methods and inventory pricing
methods?"

Gl anill 3k
inventory valuation methods

Ao (o 26U g £ (950l a3k iy ol
A38) gia il 13) 9 e d giaual (B B2 giall (19 el
dayi ya ) Aty ¥ ei slally ddaal)l i &
Lglall Al Ngall jpw Jia AN il Egany
ZJM\@M\M@@JuJ#JSM
Aaslil) JLudl i sl e yass oS Ade B
AR 0685 A4S Al o) aad 13 Gaall ) e

A gl dagdl) g

de ghaal) Alaly) AICH) ABtCTl) 4y Al g AdlCEl g
Ol iy jlae Aald i jia 8 ilally Bliiad
b Al iy W Sy delay) JA iy jlaag

Alla 45083 3 £ Al Jrw oo Ailgd

el 4y daly (@) dall dadl) a2
Ay A8 M) ) Y gaall Al

Jaladll ailiil) oy A58l y ity shl) Gl au-3
pini b b Al Y (S ) g Uaailas
(Fiaa 5 3 ) Gladial) dadl g 8 5 e gL

rsalaall jiad) g ddasall fam pe ais e g2 g

8RN Aulgd (B Ay (19 Al alis a6 o) g
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inventory pricing methods

Al dagdl) wosdl el GgiAall amed 3ok oyl
delay) Al o 2L cclea il Ja1 3aal) JAT (0558l
(Al Ll (5 530 2355 psedaal 5 ) DA Ao lsal

:gilﬂls RS

/YJ\ i _paia ‘2?3\ ) JWFIFO .
Vol b ala ) a0 A ) JMLIFO =

s O9aall O e salyg FIFO: Yl sala Y aish -1
coiba g (b il g Al Al oy Al Al gua g i day
Jalail) iy Laa cgiis g Aualdl) Ladl) U8 Lgay o
Ol B Lgalhy (a yikal) 3 ,AY) cladial) Jlaul o Usulaa

B33 gal) Lasl) Guay

Ay bl use A8k A LIFO: Yol sola 1 il 3\ sl-2
Adlal) Adgal dnalaall uleal)l Cpada et Vg Al
gL (A (A Ll B milall cllay (A clatlall o) LS
Gl o pe @Il dG gk Llad) oda miy Yl
A pal seall JBy Lae adaills 45l Apalaidy)
Adlal) sl slasy A gall juleall Aol Saatina & 48y 5k
GAAP. A gl dpalaal) 53ball (10 Baalns LS o(IFRS)

sthuy}ugm@xm&ﬂ\my\-g
Adbia Jlaals ¢l B 53 sa gl gilall Cilaa g e

aal ¢ g 99 Sy aly (g 58l s ) £l 0 g
e A Lal sl g ccile giaal) (8 ) giall ()9 jaal) dad
duulaal) 5 yidl)
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ALY e Byl 1 9 B dilal) oY) G Jpalll | 0aY) aggha il 1 sl
Sixth: Clarifying the concept of wages, distinguishing between direct and
indirect wages with examples

Bdilial) 5 gall e Saadl) , SRV aggda s Yy
the concept of wages, distinguishing between direct and indirect wages

The cost of labor is the second major component of the cost of manufacturing, which is
the cost of the human effort that is used in production. labor may be direct or indirect.

5 WY1 b p8d oA (gl el S5 a5 cquiaatl) AAISS (3 A pnns ) il (o Alland) 4S5
5ot s 5l 5l Allaall ) o

Direct labor, represents payroll costs traced directly to an individual product . Direct
labor costs include the wages of machinists, assemblers, and other workers who
physically convert raw materials to finished goods . The cost of direct labor is debited to
Work in Process.

Dsal Baliall Aleal) CaldlSs Jadi dane mite ) 5 ilie Leas oy ) 2 CadlSs Jiad 3yl Allaal
Uleal) 2815 28 5y adiall Al b ) alal) o gall Josaty 5 50 68 2l AY) Jleadl 5 ¢Guranall 5 ¢paaidl)
(Work in Process)xaiill ad Jeall cabus ) 5 550

Indirect labor consists of labor costs incurred for a variety of products but not readily
traceable to the individual product worked on during the period. Indirect labor costs
include the salaries and wages of the factory superintendent, supervisors, janitors,
clerks, and factory accountants who support all products worked on during the period.
Indirect labor costs are charged to Factory Overhead.

2l ) A g Lo (S Y (05 e 53a] A5 oty ) Allaal) (IS5 (g (5558 5 530l e Allasl
G Al HsaWy el gl 5 yaliadl je Aleadl Gl Jadi 3l JOA ale Jaall A3 Al aaa
M‘?:k..fm Gl & ) sae Cpl) M\@UM\AAXU Al g ddldail) Jlae g ¢opd piiall ‘ci...a.d\

(Factory Overhead)." giaell dalall caisill ) 5 jilaall e Alleal) CallSS Jraad oy 5 il A Lgile
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Methods of wage calculation _s¥) cluda) (§ b Lid

t b e Lgia Jardl gal Al CludinY 3k Bas Slla

Time (hourly ) based method <@gl (ubul e a¥) qiludal -1

Piece based method  (Aaiiall cilaa gll) dadall) Gl Jo ¥ iludal -2

Piece Rate/Hourly Wage Method 4sbu [zUY) Gulul Ao aY) aai 48, )k =2
Incentive Methods for Wage Calculation_a¥) cluiay 4maddl) gkl -3

daly cilbiada

Clels 8 (A an ) deal) cile L

(4-5) aal gl e ) (s @;l\ Qe

ALIS ) el Lgie adyy dca jall s ke V) &l Ay

e Ll sy Jy JalS gy Canin D elall dmy Ll ¢ JalS gy i el J 5 3la Y]

ol Al Gad bl

ki Y) 2 e %20 Ay i) al e ady L &) gall 5 geall 5 2l AU

exnb e ol ks S el s Aol 12 & seneS Cuding Yl e e ) ailaall il

NouhkrwNek

¢ Accounting entries related to the recognition of wage disbursement
LY di e UL Laldl dpalaall 3481

Lo 385 ()5S 5 pilae e ol Bl CilS ¢ g Jleadl dalad) ) DU dppulaall dallaal) culily ALl xie
:aUJ\‘;Q..g._m
- deadl Al aae x Jaadl cilelu aae x delully oV = 5 pdlal ) saY)

Direct labor = Hourly wage x number of hours worked x number of working days
8 ydileall 19;3“ pa ic
Manufacturing payroll: direct labor and paid in cash

Work-in-Process Control XXX
Cash Control \ wage payable XXX

Bpabiall e sl Cipa i
Manufacturing payroll: indirect labor
Manufacturing Overhead Control XXX
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Cash Control \ wage payable XXX

Babiad) g 5Halall ) Cipa e
Manufacturing payroll for February: direct labor and indirect labor:

Work-in-Process Control XX X
Manufacturing Overhead Control XXX
Cash Control \ wage payable XXX

1 -cdgll (ubul Ao ja¥) cludal Time (hourly ) based method

"This is the most commonly used method, where the worker's entitlement to wages is
based on the time the worker spends within the organization. The worker's wage is
determined according to their skill level and the qualifications they have obtained. The
wage is paid either weekly or monthly, with monthly payment being the most common.
The wage is paid for the days the worker is present, and the worker's wage is deducted
for the days they are absent from work. The worker's entitlement to wages can be
calculated using the following equation:"

Jalall 4 aal gy ) B N e alaie Wl 5l (e Jaladl (glaacind aaay 3 ¢ aladin¥) dailall 4 5kl 4
Wi 2l &8 pls ¢ Lo dhan (80l a5 40 Jlee Ao )3 o Jalall il 2t s ¢ s‘uim\ Ja
daladl a2V e aiads s dalall Led aal gty Al QLI (5 el @il 06 lladl b5 L yed ) e sl

A0 Alaleal) asn 2 (e ) liscial Ciludial Sy s cJandl e Led iy ) AL

Total wage = Regular time wage + Overtime wage
LY CE N gal + galie Yl CE N jal = SN AV
Regular time wage = (Number of working days * Daily working hours * Hourly wage rate)
(ALl jal Jane * e sl Jaall el * Jaall oUf 232) = (salsie W) Cd gl

The hourly wage rate for overtime (outside regular working hours) is 50% higher than
the regular hourly wage rate."

e Y Aol jal Jasa (e %50 Aty ST (o) sall Gl gl 2 A ) Jeall delidl jal) Jaxa o 3)
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"According to this method, the worker is entitled to wages for weekends, public
holidays, and vacations, whether they are regular or sick leave. This method is preferred
in establishments where work relies on machines."

A e ol Apalic) ClST 2 s i a5 A N Jlanll 5 gendl Gl oa) Gy Jalall ole 48yl eagd Tas
YY) e lelee aaiay i) cliiall 8 45y lall o3 aladind Juady g ¢

¢ Advantages of this method:
o Ease of use.
« Low rate of defects, and production remains within specifications.
- 45,k sda Ul e

lial pall e Y (6 5 Al A (=lisS) e

+¢ Disadvantages of this method:
e No distinction between efficient and inefficient workers, as everyone
generally receives the same wage.
e Increased lost time, especially unauthorized time.
e Workers resorting to overtime under the excuse of not completing their
tasks within regular working hours.

=48kl 038 o e

oY) Gl e le ) 8 aeal) diasy 3 6 SN e Jalall 5 ¢ 8SI Jalall (il pae .
Az el e Laldy ailal) gl aly ) .

iVl gl 8 4y aalall aa el aae daan LY daall ) Jleadl ¢ 5ol .

"To verify the accuracy of employees' attendance and departure from work, it is
necessary to use certain methods specifically designed for this purpose, such as:"

-1 el 03] araddll (3 k) amy aladiul e 1Y aglee ) cplalall (ol pail g ) guias A8 SUEY
: (Time Card) 1< 5l Qi 4dlay — |
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Company Name
Employee Name: Department:

For the week ending on: Regular Hourly Wage Rate:

Regular Evening Evening Shift Morning Morning Shift
Overtime Time Shift (Exit) (Entry) Shift (Exit) (Entry) Day

Saturday
Sunday
Monday
Tuesday
Wednesday

Thursday

Friday

: (JOb Card) : (JAY\) z\:xlui\ Z\ELL.;— «

Operation Card

Operation Number: Operation Type:
Period From: To : Date:
Total Overtime Regular Total Work Employee
Wage Hourly Rate Hourly Rate Time Time Date = Name Department
Overtime Regular Time To From
Employee Signature Supervisor Signature

Example 1:- Worker Hamed gets paid 450 ID per hour the following time card for him as
follows :

Day Enter Exit work Hours | work Hours
hours | minutes | Hours | Minutes Normal Overtime
Saturday 6 2 1 5 7 -
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Sunday 6 5 2 3 7 1
Monday 6 - 3 30 7 2.3
Tuesday 6 3 2 5 7 1
Wednesday 6 1 4 30 7 3.3
Thursday 6 4 12 - 6 -
Total 41 8

Additional information :

Daily working hours : 7 hours .

Average overtime pay : 1.5 times of hour wages .
Required : calculate total wages for Hamed.

Solution :-

Example 2:an employee earns $15 per hour and works 40 hours per week.

Required:

What is gross wage for employee & journalize transaction in general journal

Solution:

(@.’uﬂ\ <laa i) dadall) gyl S Y wludslpPiece based method -2

The wage is calculated based on the number of units produced by the worker, and the
worker's entitlement to wages is calculated using the following equation:

Y Ge daladl laaiul Cluial by lealily delall assy ) adadll e el e a¥) Clutal 2

LN Asbaally

Worker's wage entitlement = Number of units produced * Unit wage rate
saa) sl Bas gl ja) Jaxe * daiiall Cilas gl dae = 2 e Juladl GBlascial

This method is preferred in establishments where production depends on manual labor,

such as in sewing, decoration, and jewelry making.

Zelually 40 )3 305 ASLAIS (gl Jaal) e Lealii) aainy i) ciliiall b 38 k)l oda aladinl Juady g

55

&




Cost Accounting Assistant Lecturer: Murtadha Kadhim

Advantages of this method:

e Distinction between efficient and inefficient workers.

e Reduction of lost time (elimination of lost time).

e Motivates workers to increase the number of units produced.

e Easy to apply in terms of calculating the worker's wage entitlement.

DAkl 228 L) e
Sl e Jalall g oS Jalall G Suadll
(el < gl alaail) gilall @ gl e Jl) o
Aadial) Glas gl aae 33l ) e Jalall a5 e
oY) e Jaladl Glascid ludial Gua (e ukail) dles @
Disadvantages of this method:

e Creating problems in terms of determining the correct units for which the worker
deserves payment.
e The worker's focus on quantity over quality.
e Increased material waste due to the worker's speed in completing the task.
e Creating conflicts between the worker and management in case of raw material
shortages.
A8kl 028 e
o) daball Lgie Gating Al Aalud) Glas gl aaat Eua e JSLL 30 .
! £l Gl Ll oSG Jalal laial o
Jandl Sl 8 Jelall Aoy o O gall Cil5 e 0 5
AR el g ane Al L85y Jalall G JSLENI 5, e

Example 1:-

Worker Ali gets paid based on piece as follows :

products | Units produced |Wages per unit
A 70 12 %
B 30 15$%
C 20 209

Required : calculate total wages for Ali .
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Solution:-

Example 2: Workers produced 500 units during the month of January, Wage was
$1,000 per unit.

Required:

Compute total wage and journalize transaction in general journal

Solution

Example 3: an employee is Worked 8 hours per day from Monday to Friday, basis
Piece-Rate Plan the Wage compute at 15% per hour or 0.30% per unit. The following
schedule show information pieces finished:

day | Pieces Finished (Quota 400)
Mon. 400
Tues. 360
Wed. 420
Thurs 450
Fri. 340

Required:
Compute Wage payable and journalize transaction in general journal.

Solution:

Piece Rate/Hourly Wage Method4su [zUdY) (ublul Ao aY) paaidsy b 3

Under this method, the quantity of production produced by the worker, for which they
are entitled to wages, is converted into time hours, and then the worker’s wage
entitlement is calculated. This method is typically used when the worker’s output is not
uniform. A specific time is assigned for each type of production, and then an hourly
wage rate is determined. The worker’s wage entitlement is calculated using the following
formula:

Worker's wage entitlement =
Number of units produced * Time required to produce one unit * Hourly wage rate.
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Example: One of the workers produces three types of products: Z, Y, and X. The company
has set the following estimates:

Time required to produce product X: 3 hours

Time required to produce product Y: 4 hours

Time required to produce product Z: 1 hour

Hourly wage rate: 5 dinars.

The worker's production for one week is as follows:
Product X: 30 units

Product Y: 40 units

Product Z: 50 units

Required: Calculate the worker's wage entitlement.
Solution:

Incentive Methods for Wage Calculation_a¥) luial dpaidll § all-4
A- o~ ii Halsey Plan

Under this plan, a standard time is set for producing a unit or completing a specific task.
The worker is entitled to their basic wage for the actual time spent producing the
required units or task, as long as they do not exceed the set standard time. If the worker
completes the production in less time than the standard, they are given a reward or
bonus equal to 50% of the cost of the saved time.

O ¥ opal daladl ading 3 Ligee Agdae SladY ol saa gl LY uld C g aaay Adadl) s3a Can sa
aanall ul @l gl b5 glad ate Alla b 4ke o sllaal) Alaall o) ol gl U1 8 48 jeay 3 ladll )
8 sl 8 gl) 43I (0 950 Jalai b gDle o 3Ll Al (o i il i gl (e JBL 2L o jlad) Al i

The worker's wage entitlement = Standard time wage + Bonus
Bonus (Premium) = (Time saved * Standard hourly wage * 50%)

5l + galie W) Ci gl jal = el e dalall (Slisiul
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(%50 * o) 2! ana * (i salljansiall il = 3,50

Example : Identified Pine Furniture Co. standard time to produce wooden chair about
(120) minutes and that worker working day (8) normal working hours and hourly wage
rate (2000) dinars, has completed worker Ahmed (5) chairs during the day.
Required: Calculate the wage due to the worker Ahmed if | learned that the company
gives 50% of the cost of plenty of time for the worker as a reward. Under the plan
HalSey

The solution:

Example 2: The standard rate of production in the light plant is 48 units per week and
the time the record was 48 hours and wage per hour rate is 500 dinars, and has
produced a factor 42 units and another 60 units.
Required / calculated wage workers in a way Halsey.

Solution:

Example 3: worker worked one day for 8 hours at a rate of wage of 25 dinars per hour
and the number of units produced in that day is 4 units knowing that the standard time
to produce one wunit is 3 hours and hours specific to work 8 hours.
Required / calculating the worker's wage in a way Halsey.

Solution

B- Olsy 4bd ROWAN Plan

It is similar to the Halsey plan but differs by granting the worker who saves time a bonus proportional to
the amount of time saved. In other words, the efficient worker who saves time is given a bonus or
reward in the form of a percentage of the actual time (not the 50% time savings percentage under the
Halsey plan). The bonus or reward is calculated as follows:
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Premium(Bonus) =( saving time / standard time for production ) X real-time
production X hourly wage rate.

Example 1 : Identified Pine Furniture Co. standard time to produce wooden chair about
(120) minutes and that worker working day (8) normal working hours and hourly wage
rate (2000) dinars, has completed worker Ahmed (5) chairs during the day.
Required: Calculate the wage due to the worker Ahmed if | learned that the company
gives 50% of the cost of plenty of time for the worker as a reward, Under the plan
Rowan.

The solution:

Example 2 / Hassan assumed that the company set record time to produce baby suit
(1.5 hours), and that the worker works (8) ordinary hours of work and rate of pay for
hours (3000) dinars, and vyou have available the following data:

Worker Saif completed 4 allowances
Factor Saad completed 6 allowances
Worker Sami completed 8 allowances

Required / Calculate wages owed each worker according to Rowan plan.

Solution :
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Example 3/one Company determined the standard time to produce about 10 hours
and the Company have 3, Workers,

the first one produced the unit Production in 12 hours.

the Second one Produced the Product in 10 hours.

the third one Produced the Product in 8 hours, and if you know that the
rate Per hour was 100 I.D

PwnNeE

R// Compute the accrued wages, in halcy & Rowan Methods?.

Solution

Example 4/ You have given the following data:-

* The rate Per hour Was 100 | D.

* The standard time to Produce 20 units Was 6 hours

* The actual time to Produce 200 units was 50 hours.

R/ ComPute the ascured Wages in Halcy and Rowan Methods.

Solution

Example 5/The standard time for Produce one tier were 2 hours, daily rate was 80 ID.
the worker Produce 180 tiers in a month which is Contain 25 days with daily average 8
hours..

R. Compute the ascured wages in Halcy and Rowan methods?

Solution
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B- ALY cdgll Qvertime:

Labor regulations and laws define the standard working hours per day or per shift. Most
of these regulations in different countries stipulate that the official working hours for a
day or shift range from 6 to 8 hours, depending on the laws and regulations of that
country. However, in most countries, the official working hours are set, and it may be
required for the economic unit to have the worker work beyond the official hours, which
is considered overtime.

o4 abiee (aii ) ) AaliV) dagll § sl A LolieV) Jdead) Clels Jasdl Gl g Cilag i) ol
(8 I 6 )i saalsll an il ol asll (8 dpan ) Jaadl Cilela 5S35 o) allall Jgo Calida 8 culay il
allaiy 285 Lpan )l Jandl el Led (585 Joall alare o) V)| Al sall @l Cillay 855 ) B oy Cile s
Sae 223 Al 3 el dpan N Jeadl Glelu (o ST agll 8 Jalall Joindis 20La®Y) 30a gl (e Yl

(Overtime).Lila)

Example: An worker is working 22 days, the average wage of $ 50 per hour, the time
allowed for lunch is %2 hours, the employee has worked 15 hour overtime during
those days.

Required:
If the hours of work in 8 hours per day, Compute total wage and journalize

transaction in general journal .

Solution:

Example : You have the following available data on wages, a worker in one of the
industrial companies for the month of February, as follows:

1. The normal hourly wage rate is 200 dinars

2. The Working 90 hours of his time has spent on the matter production (A) and 52-hour
production on the matter (B).

3. The cost of wages, indirect 19,350 dinars.

4. The over time spent working in the factory is 4.5. Hour

Required / Select wage due to the worker with the record of the necessary daily entry .

Solution :
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Methods of handling lost time aiball <8 olf dallaa 3k ; G

Wasted or lost time is one of the major problems for an organization. Therefore, the
management should study this issue seriously and implement solutions to reduce
unproductive wasted time. In general, wasted time is divided into the following
categories:

ol Oy Agany ASALD w38 ey of slial) 55l e oy Gl slanall 5 €l JSULE as) g8 gzl 8l )
- ) plaall gl s o ale S 5 el e adliall 6l i Lgie daalill Jslall

Wasted or lost time ailaall < li:

"It is the difference between the planned or scheduled time to complete the work and
the actual time spent.

It is the time the worker spends in the factory without corresponding production."
lad Ca g pomall @8 gl g Jandl ety Taladall of danall <8 ol o 380 ga g
) Gl Al ol 50 piaadl & Jalal) 4l 3 i gl s

% bl ALl @8 gl Normal waste time
-leie Base bl 5 (WY &S (o le S g 4diad o) 40 (S Y A ) s

. Employee clock-in and clock-out timegiaa 4 s (A5 e Gleladl z 5 25 a2 cdy ]

"Employee break time" .culalall 4l jiul iy 2

. Time for changing clothesu=Sll juas <d, 3

(waiting time).Augdll ) HUatY) g o Lo ) s AT ) Aaalll) dae (e Jagaill 5, 4
GlaainY) o

xxx De: Normal waste time szl dilcall i gl
xxx Cr: Accrued wages controldisiuall sl 48l e

el a8

63



Cost Accounting

Assistant Lecturer: Murtadha Kadhim

xxx De: M.F.G.0O.H controls_silue yne daelia CaillSi 48 ye

xxx Cr: Normal waste time szl gilall < 5l

< Up Normal waste time azhll & ailall <8 4l
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"Personal needs" Axadill Gl 1
. "Laziness and negligence by the worker"Jalall Ji (e JLaay) s Jusll 2
. Production stoppage due to the unavailability %l s¥) 3 sall Ji i ade cap ZlY) G5 3

of raw materials

. "Production stoppage due to power outage" ke Jdl g Ukl cuy i) 55 4
. "Production stoppage due to maintenance work"4luall Jlee | Cu LY (i 55 5
s AN 5 mlall s AUl ol 5l sl s Y1 B 556
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xx Cr: Accrued wages control 4isiuall ) sl 48l e

xx De: Profit & Loss account

xx Cr: Up normal waste time
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2- Inflation Methodaszaill 43, )k

Ne g o G paall sl A el o ankll giliall gl el sl o 4l o3 o paus
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Inflated rate = Total wages / Total hours - Normal waste time hours

The Entries of labors or wages 4l cilallzal)

Costing records
(Blaiuy) iy a8

Xxx De: wages control
Xxx Cr: General costing ledger

Y Caiai 08
De: sundries
xx Direct wages control
xx Indirect wages control
xx Cost of waste time
xx Cost of over time
xx Cost of per mum over time
xx Cost of holidays - allowance

Cr: xx wages control

3dlaall )Vl (@3l a8
De: xx Work in process control

Cr: xx Direct wages control

bl ye ¥l @) ad

De: sundries

xx M.F.G.O.H control

xx Marketing control

xx Administration control
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De: sundries

xX Normal waste time

xx Up normal waste time

Cr: xx Cost of waste time

c_"h'al\ il gl (a8

De: sundries

xX M.F.G.O.H control
xX Profit & Loss account

Cr: sundries

xx Cost of over time

xx Cost of per mum over time
xx Cost of holidays - allowance
xx Normal waste time

xx Up normal waste time

cllaall JS 31 28

Ex. 1- One of the Workers Worked 6 days in a week and the daily rate was 8 hours the
rate Per hour was 2.700 D.
The Production and the time Card showed the following data :-,
a. 1/2 hours daily rest.

b. 1/2 hour in a day for enter and dismiss the Workers
c. 1/2 hour in a Week for Personal needs..

d. one hour in a week for Conversion Production from A to B.

E. two hours in a Week the machines were stopped because of cutting the electricity.

F. 90 minutes in a week the machines were stopped because of the maintenance.

G. one hour in a week the machines were stopped because the raw materials were not

available.

H. The remaining time specialized to do two operations A and B with a ratio 2:1.
Required/ Compute an accrued wages and record the entries if you know that the
accountant, was discounted 10% to the social insurance.

Solving
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Ex.2 -one of the workers Worked 8 hours. In a day the rate Per hour was 280 D. the
normal Waste time waste 1 hour and the up normal waste time was 1/2 hour the
remaining time specialized to produce the product (A). Required/ Compute the accurd
wages for the Worker and record the necessary entries in the one method:

R/ Accounting entries method.

Solving

EX. 3/ one Worker Worked the first seven days in February and the rate Per hour was 10
Binnars , the rest and dismissal time from the Work was 30 minutes in a day, the time of
stopped machines because of the raw materials were non available Was 20 minutes in a
day, and the Worker Spend half of his actual time on operation A and the rest of the

actual time on operation B

R/ 1. Compute the accured Wages..

2. Compute the rate of holiday & allowances
3. Compute the rate of normal waste time.

4. Compute the rate of up normal Waste time.

Solving
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